Class:-TYBAF Subject: - Indian economy

Semester: - VI
1. According to census 2011 India’s population is
A) 1210.2 million
B) 1220 million
C) 1029 million
D) 1210 million
Answer: - A) 1210.2 million

2. introduced Multi-dimension Poverty Index.
A) World bank
B) Planning Commission
C) RBI
D) Human Development Report 2010
Answer: - D) Human Development Report 2010

3. Type of unemployment is not applicable to India.
A) Seasonal
B) Cyclical
C) Educated
D) Disguised.
Answer: - B) Cyclical

4. The Marginal Productivity of labour under disguised unemployment is

A) Positive
B) Negative
C) Zero
D) One
Answer: - C) Zero

5. Tenants were categorized as
A) Occupancy tenants
B) Tenants at will
C) Sub tenants
D) All the above
Answer: -D) All the above

6. High yielding variety seeds were used in the cultivation of
A) Sugar
B) Wheat and rice
C) Pulses
D) Fruits
Answer: - B) Wheat and rice

7. Agriculture prices in India are
A) Very certain




10.

11.

12.

13.
A) 26%

B) Uncertain

C) Very low

D) Very remunerative
Answer: - B) Uncertain

During the period of 1965-1976the industrial growth was
A) High
B) Slow
C) Recovering
D) Stagnant
Answer: - B) Slow

is not the part of industrial policy 1991.

A) FDI

B) Competition Act

C) Permitting Foreign Technology

D) Abolition of Industrial licensing
Answer: - B) Competition Act

The public sector has played role in the process of India’s economic
development.
A) An important
B) Not contributed
C) Less significant
D) Minimum
Answer: - A) An important

is the main problem of small scale industries.

A) Corruption
B) Shortage of Labour
C) Fiscal deficit
D) Finance and credit
Answer: - D) Finance and credit

is not a part of new technology in India.

A) ATM’s
B) Net Interest margin
C) Debit card
D) Internet banking
Answer: - B) Net Interest Margin

% of FDI is allowed in the insurance companies.
B) 49%

C) 75%
D) 51%
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Answer: - B) 49%

In 2018-19 major share of our exports belong to

A) Crude and Petroleum
B) Manufactured goods
C) Agriculture and Allied products
D) Service goods
Answer: - B) Manufactured goods

WTO promotes
A) Liberal multilateral trade
B) Bilateral trade
C) Regional trade
D) All the above
Answer: - A) Liberal multilateral trade

is not the main player of Indian money market.

A) RBI
B) Commercial Banks
C) Government
D) Over the counter exchange of India
Answer: - D) Over the counter exchange of India

Monetary policy influences
A) Supply of money in the economy
B) Cost of credit
C) Economic growth and price level
D) All the above

Answer: - D) All the above

Capital market is a market for
A) Short term funds
B) Medium term funds
C) Long term funds
D) Medium and long term funds
Answer: - D) Medium and long term funds

The IRDA act was passed in the year
A) 1999
B) 1998
C) 2000
D) 1991
Answer: - A) 1999

The Natural Rural Health Mission gives importance to

A) AYUSH



B) Health
C) Education
D) Sanitation
Answer: - A) AYUSH



